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Seat No.

Enrolment No.:

Gujarat Technological University
Diploma Engineering C to D Bridge Course Examination - Summer 2016

Subject Code: C300011
Subject Name: Basic Chemistry

Date: 10/05/2016

Time: 02.30 PM TO 04:00 PM Total Marks: 70
Instructions:
1. Attempt all questions.
2, Make suitable assumption wherever necessary,
3. Each question is of 1 mark.
4, Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)
5. English version is authentic.
No. | Question Text and Option. Y& el [Ascul.
Which of the following contains intra molecular hydrogen bonding
. [A. |Cl B. | NaCl
C. | O-chlrophenol D. | P-chlrophenol
o{l AottHiell slaL lict: 2ecflal ol wRLd 8.
. |A. | Cl2 B. | NaCl
C. | 0-sclABAe D. 1 p. s ABele
Which of the following contains ionic bonding
2. A | Cl B. | NaCl
C. | CHs D. | SO;
ol Aotl il slaL vA[As ol wAd B,
% A JC: B. [NaCl
C. | CH« D. SO;
Crystal lattice arrangement of Al is type.
3. |A. | FCC B. | BCC
C. | HCP D. | None of the above
Al oll 2851 wRHge{l Ul ysie{l el .
3. |A. |FCC B. | BCC
C. |RCP D. e @sc Hidl As yel «2ll
A substance that activates a slow acting catalyst is called
4. | A. | Positive catalyst B. [ an initiator
C. | catalytic poison D. | promoter
@ Ueld LA st sl Glusell uglaiciil dtRA 53 d séala 8.
¥. | A | ot Gélus B. | yieisl
C. | G&us @Qw D. | Gdlus-Gars
Which of the following is the example of non-polar covalent bond
5. |A. |HC B. |Clz
C. | NH; D. | HF
ofl Aol Hiell wuycfla UsdAlys oits BelgeL el
L. [a THCO B. [ChL
. | NH3 D. | HF
In the manufacture of H-SOs4 in contact process, As20s acts as
6. | A. | Promoter B. | Negative catalyst
C. | Catalytic poison D. | auto-catalyst
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H,50, ol seltae el 2i3 [QARHL As,0, ddl3 sl 52 B
s. | A | Gélus-GAxs B. |z Gélus
C. | Gdlus [An D. | a2l Glus
The substance change the rate of chemical reaction is called
7. | A. | Catalogue B. | Catalysis
C. | Chromophore D. | Catalyst
% Weld o 2eu@ls ylBan gL §2512 531 st o weldal sdallal,
9. [ A | BacloL B. | Gdluet
C. | gLAsR D. | Gflus
Which of the following is the example of network solid?
8. | A. | Diamond B. | Ps
C. | Ss D. | None of the above
o{lAatl Hiell onollelR uot UELdo] BELSQL ULl
C. (&L B. | Ps
C. |Ss D. e @scl digdl As uel o2l
The catalyst which retards the rate of chemical reaction is know as
9. | A. | anto-catalyst B. | negative catalyst
C. | catalytic poison D. | promoter
% Gelus ARG yBauetl doni ualsl 53 d sdalal 8.
e. | A |l Gélus B. |z Gélus
C. | Gdlus [An D. | Gflus-Glows
pH of acidic solution is
10. | A. | >7 B. | <7
C. |=7 D. | None of the above
AREBs alcwell pH
10. TA. [>7 B. | <7
C. | =7 D. | None of the above
The solution which resist change in pH by addition of small amount of acid or base is
1 Called
" | A. | Indicator solution B. | Buffer solution
C. | Reagent solution D. | None of the above
% alolHl aUlst UHRHL ARS wadl Ash GRRal 89dl pH Hl ¥281R2 Ul
ol8fl Aell alclBLel sdallal.
. =
S ETUCRACT - | )LgR alawL
C | yBaus aarl D. | e @sedl digl As uel o2l
The standard electrode potential of hydrogen electrode is
12. [ A. | Ovolt B. 1 volt
C. | 2volt D. | None of the above
YRl slBRlerel Yealotl YHUEld WA of Herl
2. | A. | Ovolt B. 1 volt
C. | 2volt D. e @scl digdl As uel o2l
Value of ionization constant of water (Kw) at 25" C is
13. [A. [10™ B. | 107
C. |14 D. |10’
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WRllell ULRAS Afeol UUNLS (Kw) of Yel U A slat 8.
3. [A 10" B. | 107
C. |14 D. |10*
The degree of ionization of a substance is depends upon
14. | A. | Size of solute molecules B. | Nature of solute molecules
C. | Nature of vessel used D. | Quantity of electricity passed
Yeldlall 2520 249  GUR AMR AU B,
A | glealoll UQ| 5E B. | glasetl agell ysla
Y. - _
C. | Gualloti Qaudel awgiell [P | ualr srauiml wdal [Qydydisst
ysld o2l
If zinc is coated on base metal surface is called
15. | A. | Tinning B. | Galvanizing
C. | Gold platting D. | Chrome platting
HOU tlldell slalel HI2 detl GUR ctotl Aelc us uaglaaledl
y(Zauel sdalal
U, : _
A | Qlellat B. | Sedoussilo
C. | slles w@2lat Sl A loL
100 ppm = degree clark.
16. | A. | 0.07 clark B. | 7 clark
C. | 143 clark D. | None of the above
100 ppm = Slofl scus
s, | A 007 ° sald B. 17 scu3
C 1143 seu3 WA [@Ascdl Hiell A5 uel ol
Molecular weight of CaCl; is gm.
17. [A. [111 B. [120
C. [95 D. | 100
CaCl,oll AUYEIR oM B,
9. [A T111 B. [120
C. [95 D. | 100
indicator is used in water hardness measurement.
18. | A. |EDTA B. | Methyl Orange
C. | Erio chrome Black- T D. | Phenolphthalein
WRllell sBotellot HiuetHl___ _ yus auRla 8.
q¢. | A |EDTA B. | Rausel 2lRe
C. |EBT D. | GellgAellot
Water which does not produce good lather with soap readily but produce curdy
19 Precipitates is termed as
" | A. | Soft water B. | Hard water
C. | Acid water D. | Moderate hard water
% ULR(l AULe] UL el % AL3 5oL Beust 5 otell U €8l Bl wadu
Geuet 52 d well
q¢.
Ao well B. | sBet well
C |aRs wel YRR sBe well
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The phenomenon of becoming boiler material brittle due to accumulation of caustic
20 Substance in water is called
" | A. | Scale formation B. | Sludge formation
C. | Caustic embrittlement D. | Foaming
% tl2otlHl uellit aueselloll Mol attcl dlsde(l tlde] areL al dal g
sdallal ?
20. .
A odl sl B. | uauee Geud uqg
C. | 81:dls sllectoe D. | flot Geum uq
Which solution is used to regenerate acidic resin in ion exchange process?
21. | A. | Bromine solution B. | 10 % NaCl solution
C. | NaOH solution D. | HCl solution
wlalel (Al usdu 52) sl ARLS Addetol Yotoylded sall HIZ dujd
8.
R 5
RN (O EEACT - | 10 % NaCl sl
C. | NaOH aletdl D. | gcr alan
The process of wet steam formation due to rapid boiling of water in boiler is known as
22, | A. | Scaling B. | Sludge formation
C. | Priming D. | Foaming
ollset il well 3suell Gt ua elloll cin Geur el dol 9 sdaua ?
2. | A | o1l alosell B. | scude] Geud aq
Co | uoa ousy olotcll D. | Qo Geust uq
Temporary hardness in water is caused by
23. [A. [ NaCl B. | MgCh
C. | KCl D. | None of the above
wellell al@ls sBotcl ol Aouniell sau aual 2uedl 82
3. | A. [ NaCl B. | MgClz
C. |Kd D. e @sc didl As yel «ell
As dilution of agueous solution increase, the degree of ionization
24. | A. | Increases B. | decreases
C. | remains constant D. [ None of above
Bu el alctgoll HEdL all dx wRet520.L viae] Yeu &
¥. | A | al B. 1y
C. | wum 23 D. |l [@scul digdl As we o2l
Exhausted Zeolite is regenerated by passing
25. | A. | NaOH B. | Brine solution
C. | H:0 D. | HCl
of alellgl UAR 53 wiaus ol Aell Aladlcsea Yot %pd sRauul wd B,
C. [H:0 D. [HC
Permanent hardness in water is caused by
26. |A. [ NaCl B. [KCI
C. | CaCl2 D. [ Ca(HCO3):2
. utgﬂcrﬂ statl slBotcll o{lActimiell s2u aRal 2ueudl B2
" [A. [NaCl [B. [KClI
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| CaCl2 | D. | Ca(HCO:3):
Water Containing dissolved salts of chlorides and sulphates of calcium and
27 Magnesium is called
" | A. | Temporary hard water B. | Permanent Hard water
C. | Soft water D. | Moderate hard
% ULR(l o 3(EAaH Ul NoslBlan oll SALRABS ol Ak ol &l URlad sl
A well sl
R4,
A a@s s@et wal B. | sl 5@t will
Co | ot wll staHl oteH well
Molecular weight of Mg(HCO3)2 =
28. |A. [146 B. [95
C. 111 D. | 140
Mg(HCO:); oll WQeUR =
RC. [A. 146 B. |95
C. [111 D. | 140
1 degree clark = degree french
29. [A. 146 B. [0.1
C. [143 D. [0.07
1 Slafl scls = Slafl Fu
€. A [146 B. [0.1
C. [143 D. [0.07
The temperature at which oil begins to give enough vapour which gives momentary
30 flash of light when a flame is applied to it
" | A. | Flash point B. | Pour point
C. | Cloud point D. | Viscosity index
% cdluHlol Yellélal 6l850{l ot oLl Ul ey WA sl el Glelel oltsdell
a@ls etssl al d dtuHletsl sdcll B.
30. : .
Al assLEg B. [Yeu @
C. | atem @g RelotLclL (s
Lubricant is use to reduce
31. | A. | Conductivity B. [ Surfacetension
C. | Viscosity D. | Friction
wlesell Guallol yalscl Hi2 w B,
39, | A | adlgsdl B. | ywdwl
C. | GLaL TR
Fire point of good lubricant should be
32. | A. | High B. |low
C. | moderate D. | toolow
AR YclLéle] wleso] oL (Gl &ld sl
3. | A |Gy B. |4y
Co |y D. | dgatolly
Which apparatus is used to determine Viscosity of lubricating 0il?
33. | A. | Stalagmometer B. | Abbe viscometer
C. | Redwood viscometer D. | Pensky Martin viscometer
33. | wlese{l Raldtdloll HiUal HIZ sl Altotoll Gullol a2 B2
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A | RAxlRe? B. | A @822
C. | 3sgs [@Qs\Re? DRI EL Y CE R
Repeating units of natural rubber is called

34. | A. | Chloroprene B. | Neoprene
C. | ethylene D. [ Isoprene
el 2012 sall wldctollaL AsH YA B

3%. | A | sclRQlet B. | QaQlet
C. | s@@ot A Ylet
The general formula of alkenes is

35 M A. CnH2n+2 B . CnH2n-2
C. CnHZn D. CnH2n+3
UUBoto] AL Y2 8.

3W. TA. [ CaH2ui2 B. | CH2.2
C. CnHZn D. CnH2n+3
Which of the following is alkene?

36. | A. | CH3-CH3 B. | CH:2=CH:
C. |CH4 D. | CsHs
o{l AstiHiell 2ueslot vl wicttel.

35. ['A. [CH3-CHs B. |CH:=CH:

. | CH« D. | CsHs

Which of following is thermosetting polymer

37. | A. | Polyethylene B. | PVC
C. | Teflon D. | Bakelite
ofluot 1uell slaL dvwrenlct sigues 8.

39. Wellg2llellot B. [l
C. | 3scllot D. | Q3euse
Which of the following is aliphatic compound?

38. | A. | Ethanol B. | Benzene
C. | Benzoic acid D. | Phenol
ofl AottHiell Ae38ls welsl 210oull slcLel.

3¢. Pt B. | ARt
C. | delss ARS D. | dollet
The general formula of Alkane is

39. A. CnH2n+2 B. CnH2n-2
C. CnHZn D. CnH2n+3
ULCEoto] AULHLoRL Y2 8.

3¢. [A. [CuH2ur2 B. [ C.H2.2
C. CnHZn D CnH2n+3
Which of the following is alcohol?

40. | A. | CH3COOH B. | CH:0H
C. | CHs-CHO D. [CHsOCHs
ol wsttHiell 2ucslelet altdl.

¥0. ['A. [ CH:COOH B. | CH:OH
C. | CHs-CHO D. |CHsOCHs

41 Which of the following is used as monomer in the manufacture of PVC

" |A. [ CH;-CH; | B. | CH,=CH-CI

http://www.gujaratstudy/ bm




http://www.gujaratstudy.com

C. [CH=CH | D. | CH:=CH-CHj3
o{lusttHiell slol Ul el dll ol stettatetl HlellHr 313 auria 8.
¥1. [A. [ CH;-CH; B. | CH=CH-CI
C. [CH=CH D. | CH:=CH-CH;
Thermo plastic polymer contains structure.
42. | A. | Crass linked B. | Branched
C. | Linear D. | None of the above
R s ANz oltLRel uRld 8.
¥R, | A | uidReitld B e
C. | ¥Wa D. | el @sedl uigll As ue oell
Plastics which become soften on heating and rigid on cooling without any chemical
43 change are called
" | A. | Thermosets B. | Thermoplastics
C. | Adhesives D. | Elastomers
% WALR2 5ol 2R 5cll olRH Glol Ulel 6§ UScll Uuld ool sleuel RS
3232 Qo d sdall,
¥3.
A dlw B. | duu yetral
C. | Asdlla D. | seudluz
Amount of KOH in milligram requires to neutralize one gram of an oil is called
44. | A. | Saponmification Number B. | Emulsification number
C. | Acid value D. | None of the above
A5 U deHl WBEAL Y5 WARSA deel sal HIR w33 KOH of M@auuni
cogaial sdalal,
¥Y¥. _ _
Ao | dLoys0L Ais B. | wals2el uis
C | ARs wuis D. e @sell diell As wgl otell
Grease is Example of
45. | A. | Solid lubricant B. | Semi-solid lubricant
C. | liguid lubricant D. | Adhesive
oflns A YslRell wieso] GELERWQ B
YU | A | ot reles B | et les
C. | yaudl 468 D. | ol uel
Deterioration of metal due to atmospheric action is called COrrosion.
46. | A. | Pitting B. | Atmospheric
C. | Waterline D. | Crevice
cllelleRRloll AR 51Q Uldetl otlal wHale(l (saus aL20L sdalal.
¥s. |4 | &b B | atcttareiell aq
Co | wellell awdl «2a aq D. | dsui aq
Which of the following is used as monomer in the manufacture of Polyethylene
47. | A. | CH3-CH;s B. | CH:=CH:
C. |CH=CH D. | CH=CH-CH3
o{l el Higll slol Wells dlellotoll elottate i HlollHz ddld auRi .
¥9. | A. | CH;-CH; B. | CH.=CH:
C. |CH= CH D. | CH;=CH-CH;

http://www.gujaratstudy xbm



http://www.gujaratstudy.com

Introduction of in to the natural rubber is called Vulcanization.
48. | A. | Sulphur B. [ Oxygen
C. | Nitrogen D. | Phosphorous
gecll uze{l diez_ elnel s2clell usausl acdo{lsel sédaa B.
¥e. | A | AVUSRalet B. | dResc Jloxleast
C. | yuuesdl Dl [@sedl diell As ue «ell
Which of following is used as elastomer?
49. | A. | Polyethylene B. |PVC
C. | Buna-S D. | Bakelite
o{luetl Higll SlBl SEARIHRARUR) 315 Uz B.
ve. | A | Qdlsdllellat B. 1 dlall
C. | ooil- B D. | d3ecuse
During polymerization no side product is obtained.
50. | A. | Addition B. | Condensation
C. | Sulphonation D. | Nitration
2 ogcllsWl ulba er2et olal [Auey Yl ot a dol sdauat
wo. | A | A@a sguesel B. | delotet sguesdll
C. | ueslatet D. | sugs3atet
Which of the following is monomer Teflon
51. | A. | CH3-CH;s B. CH»=CH;
C. | CF»=CF; D. | CH»=CH-CHj;
o{luetl Higll slat 25cllotoll HlellHR ddld auRyla B
Y. A, [CH;-CH; B. [ CH;=CH;
C. | CF:=CF2 D. | CH»=CH-CHj3;
The substance have same molecular formula but different structaral formula is called
52.
A. | Polymers B. [ Monomers
C. | Isomers D. | None of the above
% UELAUlol AR AMlot URd sitirpflal ol AEoL oL sl
dol s&cllal,
.
A QR B ez
C. | qnues A [@Ascdl Hiel A5 uel ol
Nylon6,6 is formed by
53. | A. | Condensation polymerization B. | Addition polymerization
C. | Vulcanization D. | Cyclization
a3 ollalellol 6,5 totlelallHi U B
u3. Ueotol LUl B. | otellet wgyesel
C. | acdetsIaet D. | ugls2eL
The substance ionize 100 % in to the solution is called
54. | A. | Weak electrolyte B. | Strong electrolyte
C. | Medium electrolyte D. | None of the above
% UELa] alel@Ml 100y as(lseL aat dsl sdall2d 8.
wy.
A | Rda @y dReusa B. | yua @Qydeusa
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C. | nean QydReusa D. | wld @scdl visll As gl otell
pH of aqueous solution having concentration of 0.001M H30+ , is
55. [A. |3 B. |7
C. |14 D. |1
0.001M H30+ ol sl uLaldl wellal staee(l pH 8
WL A T3 B. [7
C. |14 D. |1
reaction occurs at anode in electrochemical cell.
56. | A. | Reduction B. | Hydrolysis
C. | Nitration D. | Oxidation
[Qyd AuA@s sl Aells Yo GuR ylBal a8,
us. | A | dlssatet B. | aisl@llu
C. | sttesRatet D. | 2523 atet
Which of the following hydrocarbon is saturated
57. | A. [CH;-CH; B. | CH:=CH:
C. [CH=CH D. | CH,=CH,-CH;
ofl uotl Higll slaL A sLBglsIolel sdcua B.
9. A [CHi-CH; B. | CH:=CH:
C. [CH=CH D. | CH,=CH,-CH;
E.M.F of Zn / Zn ** electrode is V.
58. |A. 034 B. [045
C. [067 D. [0.76
Zn/Zn*? (AYd Yol E. M. F. V.
We. A [034 B. [0.45
C. [067 D. [0.76
Graphite is type of lubricant
59. | A. | Solid lubricant B. | Semi-solid lubricant
C. | liquid lubricant D. | Synthetic lubricant
Jsls2 Yslell wles B.
we. | A | ot ales B. | ufuot 4165
C. | yaudl2ales D. | widR@s 965
Polymers containing the same type of monomeric units are called
60. | A. | Homopolymer B. | Copolymer
C. | Elastomers D. | Adhesives
As UL HlellHR AsH HRlalAl tguasa 58 8.
so. | A | slelHR B. | gl Qellne
C. | sezdM? D. | asglla
Rate of corrosion depend heavily on the
61. | A. | Wind Velocity B. | Viscosity
C. | Surfacetension D. | Moisture
alReLell €2 GuR A R AW B,
5. | A | Udetoll BsU B. | Relotucll
C. | ywsaal D. | Qo
62 Terylene is used as
" | A. | Plastics | B. | Synthetic fibres
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.| Elastomers | D. | Adhesive
23cllet ddld aurla d.
g2. | A | wwdls B. | ar@@s da
C. | seRAHR (RUR) Aol ueld
The hybridization in which one s and two p orbitals take part is called
63. |A. |sp hybridization B. | sp’hybridization
C. | sp?hybridization D. | None of the above
% AsWQHL A5 s el ol p sasl el A del s&clla B,
63. |A. |sp B. | sp’
C.|sp® D. | ale @scll digll As wel otell
What is the bond angle between the hybrid orbitals in Methane?
64. | A. | 180° B. | 120°
C. [109.5° D. |360°
Mot 28cll is? satsl cA ALl oitell Wl gudl,
S¥. [A. [180° B. |120°
C. [109.5° D. [360°
The substance used to stick two different surfaces firmly are called
65. | A. | Plastics B. | Synthetic fibres
C. | Elastomers D. | Adhesive
o g el-o€l AuLlal Hoofct Al Aletsall Hi2 duRcl UELdal _ & B.
su. | A | wréls B.
C. | seRAHR (RUR) D. 1 ol ueld
2-Pentenone & 3-Pentenone are the example of
66. | A. | Metamerism B. | Chain isomerism
C. | Position isomerism D. | Functional isomerism
o{lAottHizll 2-Ucollot el 3 -Ustollol Sloil BELSRWL B,
ss. | A | Hedlilou B. | gucl aHuesdl
C. | et qHU2SL D. 1 e umuescl
Aldehyde consist which of the functional grou
67. |A. [-OH B. |-O-
C. |-Co- D. |-CHO
o{lAsttHiall =l [Ascu B eSS uys EaAdld B,
$9. [A. [-OH B. [-O-
C. |[-Co- D. |-CHO
The general formula of alkyne is
68 A CnH2n+2 B CnHZn-Z
C. CnHzn D CnH2n+3
ULEELSolo] ALHLoRA YA 8.
SC. A. CnH2n+2 B. CnHZn-Z
C- CnHzn D CnH2n+3
Sodium silicate is example of
69. | A. | Adhesive B. | Elastomers
C. | Thermoplastic D. | Thermosetting Plastic
AWBan REAse o} GELEW BD.
Sé. :
A ol ueld B. | $e2elHR (R0R)
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C. | aiincrdls D. | sall@2lol werdls
Which rubber formed by Co-polymerisation of butadiene and styrene
70. | A. | Buna-S B. | Buna-N
C. | Neoprene D. | Isoprene
6J2LSLESet ol RRLARololl 01e A5 U YSIR0] UR Wl B,
90. | A | oyell- B B. | 6joll-Aot
C. | AR D. 1 augsddlet

sk ok s kR R R kR R ok R
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